Equal 9 step grey scaling betweeh*y3\=22.3 andL*y,,=95.9, Yoref=10.0, normalisation whiteW

L*0anF22.3,L%0a=59.1,L* 0aw=96.0, Yoan=3-6, Yoa e 27 -2, Yoaw=90.0, Coay=Yoaw: Yoan=25.0
L*tan=41.6,L*1au=64.5,L*taw=96.0, Ytan=12.2, Y1ay=33.5, Ytaw=90.0, Giay=Yiaw: Ytan=7 -3
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

9*5: 99, g%y= 99 9%= 59, g%= 52 g*5= 9_8, g'9= 93
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1124 *a Al*la
1007 (e 90 120 90 10! 9%.0 10 900 10 96.0
: 8.2 6.7
8 868 0.875 69.6 0.763 87.8 0.849 716  0.876 89.3
: 8.0 6.8
7 776 075 525 0565 79.7 0701 562  0.751 82.4
75+ : 7.8 6.9
6 684 0625 385 0403 720 0.558 436  0.625 75.6
' 7.4 6.9
@5 591 05 272 0273 645 0.422 335  0.498 68.7
1 6.9 6.8
50 @4 499 0375 184 0171 57.6 0.294 255  0.372 61.8
: 6.3 6.7
@3 407 025 117 0094 513 0.178 195  0.249 55.1
: 5.4 6.5
@2 315 0125 69 0033 459 0.079 152  0.129 48.6
25—+ ! 4.3 7.0
@: 223 00 36 00: 416 00 122 00 41.6
0+ : ) ) Yo~ +Y,
AL*0.=9.2 i=1,2,...8) ! normalisation: Yigiw=Yoaw 22 "0ref
0& ( ) ‘ taiw OaWYOaW"'YOref
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